
https://www.geekcert.com/a00-405.html
2024 Latest geekcert A00-405 PDF and VCE dumps Download

 

 

 

A00-405Q&As

SAS Viya 3.5 Natural Language Processing and Computer Vision

Pass SASInstitute A00-405 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/a00-405.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SASInstitute
Official Exam Center

 

 

Latest A00-405 Dumps | A00-405 Study Guide | A00-405 Exam Questions                                1 / 5

https://www.geekcert.com/a00-405.html
https://www.geekcert.com/a00-405.html
https://www.geekcert.com/a00-405.html


https://www.geekcert.com/a00-405.html
2024 Latest geekcert A00-405 PDF and VCE dumps Download

QUESTION 1

("Note: This is an interactive item Follow the instructions to answer the question Scroll bars may appear it the windows
are too smart Each window can be resized by dragging on the 5 circles located between windows) 

You are building a CNN for an image classification task 

Drag the layers on the left to the slots on the right in the appropriate order (from top to bottom) for this task 

You have the number of layers listed below: 

Input Layer (1) 

Output Layer (1) 

Convolutional Layer (1) 

Fully Connected Layer(2> 

Pooling Layer(1) 

Select and Place: 

Correct Answer: 
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QUESTION 2

Which activation function should be used to obtain a single scalar with value in (-1,1)9 

A. TanH 

B. Logistic 

C. Softmax 

D. ReLU 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 
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What is the false negative rate for the category that has the 2nd worst average measure1? 

A. Between 1 and 2 B. Less than 1 

C. Between 2 and 3 

D. Greater than 5 

Correct Answer: C 

 

QUESTION 4

Which statement is TRUE regarding topic creation in the Topics node1? 

A. Topics Map can be used to explore the topic and terms associations 

B. Term density can be adjusted using a sliding bar in the Term Cloud panel 

C. Custom topics can be generated using user-specified terms 

D. Exact document density threshold value can be supplied in the Edit Topics Properties window 

Correct Answer: A 

 

QUESTION 5

Consider the CONCEPT rule: 

CONCEPT:red@A 

Which choice represents a possible result from this CONCEPT rule? 
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A. Redraw begins with the word red and then matches any set of alpha characters 

B. Reds, a plural variant of the noun red 

C. Redness a noun having red as a root word 

D. Redder, a variant of the adjective red 

Correct Answer: D 
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